Name Class Date

Solve each inequality. Graph the solutions on a number line.

1. S5x+2<17 (X43) 2. 21<3+9x ( 2£%)
5-4-3-2-1012 345 SS—4-3-2-10 123 4 5
3. 9-x>10 (X< - 4. 27<7x+6 ( 3<X)
5-4-3-2-1012 3 4 5 S5-4-3-2-10 123 4 5
5.2¢-5>1 ( X>3) 6. -2x-3<-5 (X21)
S-4-3-2-10 1234 5 ~5-4-3-2-10 123 4 5



Solve each inequality.

X
7. 9x-7<38 (X€5) 8 3<_+1 (H4<X) 9. &r+18>22 ( X<5)

X
10. 50<8-6x (1»x) 1L -—3+6>3 (X445) 12. 30230-6x (~I0<K)

X
13. 15-5k>0 (K$2) 14, 3-3>4 (x42) 15, -2x—14<86 (X2-59)

X
16, 1lw+62182 (wy) 17. 3 -112-1402715) 18. 7<4g-9 (H4<g)



